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Completion of analysis of 2 mwn:: “ink” and “m>”
a. Ink: enough to write 2 letters

b.

1.

i
ii.

~n272 ink (as is), ink in the quill or ink in the well — 119w for each is 2 letters
1. Query (827): are they q70xn? (e.g. 1 letter’s worth of dry ink+1 worth in quill) —p’n
2. xa7if he took out 2 letters” worth of ink and wrote them while walking — 27n
a. Reason: writing is the nmn
3. ~27if he took out one and wrote it then repeated that — 1109
a. Reason: when he took out the 27 letter, the first one was no longer (which dried up on 9p)
4. Kar if he took out %2 ny and put it down, then repeated — 7109
a.  Reason: the first one is considered as if taken away or burnt up
i Challenge: it is, in reality, still there
5. Rather: if he picked up the first one before putting down the 2", as if taken or burnt and he is 109
6.  ~27 if he took out %2 nan and put it down, then carried a second %2 ny over the 1t —a»n
a.  Challenge: it didn’t come to rest — how can he be liable?
b. Answer: he carried it below v" — considered as if it at rest on the ground
i. Challenge: X211 himself ruled that even within 3 n'nav, a nmin is required
ii. Answer: that is only if thrown; if being carried through, no nnmn needed
7. &m27xif he took out V2 nanny, then repeated — if during 1 nbyn, liable; if split by ny»1 — 1109
a. oy ’7. even during 1 n5vn, only liable if it was to same nw"

i. 737,001 "1's exemption if to 2 MM - only if na»Nn MW interrupts them — but not Y9N
ii. »725: even an interruption of a n*on7 fits 'o1 1’s exemption, but not a X5>v’a (log)
iii. ~27T even a log separating the two parts of 1”77 acts as a divider for oy "

1. Note: ®a11 is consistent, as he rules that definition of nmw1 is same for naw and v’

512 (blue powder for eyes): enough to power one eye

Challenge: people don’t powder just one eye
Answer (82177 77): mynx (who cover all of face besides one eye) do powder just one eye (that is uncovered)
1. Challenge: R"2v1 rules that 5, if used for therapeutic reasons — 1 eye; for beauty — 2 eyes

a. Answer: that is referring to village girls who don’t cover face

7 mwn: further 0MYW of NRMIN

a.

b.

C.

i.

Glue: enough to put on top of a limeboard (used for trapping birds)

~n272 that which is atop the stick used by trappers

Tar: enough that requires a small hole punctured in it after used for sealing large hole
Wax: enough to cover a small wine hole

d. Clay: enough to make the mouth of a gold-refiner’s pot

e.

i
ii.

iii.

i.

17 “1. enough to make a leg of a stove-top

Challenge: sounds like "’s 11V is larger; but we hold that 1327's My is larger

1. Per: 2 mwn, above — " gave the Myw (of 'n3) enough to measure a child’s shoe
Answer: nT *1’s opinion is (n"o7n) enough to make the leg of a small 117

Bran: enough to put on the spout of gold-refiner’s pot

~11272 hair — enough to mix into mud; mud — enough to make a spout for a gold-refiner’s pot
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f.  Lime: enough to smear on the smallest of girls
i. ~n272 enough to put on the small finger (pinky) of a girl
ii. 27. girls who have matured early use it as a depilatory
1. Poor girls: use lime
2. Well to do girls: use flour
3. Royal girls: use Mnn 10w (per v. 1) (either myrrh oil or oil from immature olives)
iii. X772 i "1 defines Pap?oaR as oil of immature olives
1. Purpose: removes hair and smooths skin
2. Story:»11’7 rubbed lime on all of his daughter’s limbs and got 400 111 for her (added to 1)
a. But: neighbor did same for his daughter and she died
i. Explanation (379): »22 "7 drank mead, which grows hair — needed it; others don’t
g. A7 “r enough to make a 9139
h.  /7pns "1 enough to make »2mR
i. Explanation: %1393 is the upper temple, 9>1IR — the lower
1. Question: is N1 *1’s YW larger than that of 131297 We know it to be smaller
2. Answer: it is smaller than that of 13237 — but larger than that of n>nm
ii. Challenge: »a1 ruled like nmn> "3 with 70 mixed with water, and like 1" if block of limestone
1. And: if they are upper/lower temple, both are mixed with water
2. Rather: a1 (M '7's YY) is limestone rubbed into wine cask
a.  Challenge (82775 77): why would he destroy his wine?
b.  Rather: »1ar are measuring marks made on the outside of the barrel
c.  Or: o is the forehead (per story of a Galilean who came to 911)
I n mwn: further nRIN MNPV
a. Dirt: enough to make seal on large sacks - per ™

i. oo enough to make a letter seal
b.  Fertilizer and thin sand: enough to fertilize a cabbage stalk — per y™
i. oo enough to fertilize a leek
c.  Thick sand: enough to put on a full plaster trowel
i ~177772: means to put on a trowel used by plasterers
ii. Authority: who holds that sand is beneficial for plaster — nT "

1. Per: 0:10 V10 RNADIN- as sign of MYaR for 1290, don’t use plaster unless it is mixed with straw or
sand — nT1 "1 doesn’t allow sand as that makes it cement
a.  ~27 could even be 1121 — perhaps they allow sand as it hurts the plaster, making it usable (per
decree of mourning)
d. Reed: enough to make a quill
i ~r77212: a quill that reaches unto his knuckles
1.  »wn "7 which knuckle? (upper or lower?) - ypon
e. And: if it were thick or beaten, enough to use to cook a light egg, beaten and cooked in a pot
i. Beaten: with oil and put into the pot
ii. ~N1277 1772 712 asked his son what a “light egg” is — answer — the egg of a turtle-dove
1. Challenge: if this is due to size, why not suggest xn19>¢ (small bird)?
2. Rather: per nww "1 —a chicken’s egg, which is "n%p” as it cooks faster than any other kind
iii. Question: why are all (=most) naw »1yw a NI and this one n¥»15?
1. Answer (82377 7272 70): quoted 11 — means a NI of a light egg
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